|C 1 EHES 2018/02/04

FIEEEOAF/NL—R—ILREBLEBBREBEFAE

.U.
7 A ﬁ B ~
% 18
I 2 L 1 B &4 0 s |lamma s VL tle x s
fi 7 I U & D H BoR sy = FE o= | R B =
i N z S &
i b=
bEl
N
1 {\Q HEEiEL o 31 O 30 o 32 3/6/3/0/1.000(9 3 3000]| 286 242 | 1.182
TOKIO MARINE
GROUP
Safilva . N
2 | HoKKADO™ -3 ¢ )Y 7 dbiEHE ® 13 O 30 |O 30 3052106677 3 2333 243 206 | 1.180
g |[Amsmaor 5 s, pu O 30 |O 390 2 4 2 0/1.000/(6 0 WMAX | 152 @ 115  1.322
4 (.) ZEHRREUF JERTT ® 0-3 ® 03 O 32 341 20.333[3/8 0.375| 214 | 246  0.870
MUFG
5 . FEEFEEEE ® 03 ® 03 ® 23 33,0 3/0000|2 9022/ 197 | 258 | 0.764
B
6 FORVAL BONDS ® 23 ® 03 2/2/0/2/0000[2 6 0333 164 189 | 0.868
GLaImmss
7 FAZERK 0 0 0 0 0000|000 0000]| 0 0 | 0.000
BR=r2a BME1S FEEoR BER=H-HEH vy rE=Btyriktyt BEE=FAHATXkA

XEAEDNEFREE. SRPHENBANL—R—LBRECRBLET .



| C 2 Bl e s 2018/02/04 5

FORIEECAF/NL—R—IILREBREBBREBFAE

THAVITRER N\ oOTIYVIED) INV DT Y ITRER
= b4 s = t
# = R # = R
=] b i = P s & v T = %
= F—L%E & 3 E - F—L%E & E
m alr| = " A E fi &l = & ]
1|74 2 6 161 84 13 52.2 1 |=2HRUF JRIT 3 1 52 29 5 55.8
2|74 0T 7dtiEE 3 10 310 142 24 45.8 2|74 o 2 6 20 9 3 45.0
J|EmiEL 3 12 377 162 27 43.0 3 (70 d7diEE 3 10 41 16 4 39.0
4 |FAEESER 3 1 268 107 19 39.9 4 [FORVAL BONDS 2 8 32 12 10 37.5
5 |=FHRRUF JERTT 3 1 304 119 20 39.1 5 [REEL 3 12 48 15 5 31.3
5 |FORVAL BONDS 2 8 261 102 217 39.1 6 |FE#EEEEE 3 1 18 5 4 217.8
TRAYIRERE (%) =HBE--ITH*100 NYGTRYYRER (%) =BR-FT8x100
T LITRERE (#E0) JOvIRERE (Ly )
. b4
= + . 2 N R s t
B P A = # P b
[ _ Y 7 a « E IIE _ Y =
i FoL% g r E ooz x| |a Fo4E g |t " &
# e # # 3
1 [msmE 3 | 12| 317 | a0 |17 ] 15 {162 [1|raoomm 2 | 6 17 2.83
2 (747 diEE 3 10 310 45.8 126 16 142 2 |mEiEL 3 12 31 2.58
3 [ZEHEFUF JERTT 3 1 304 39.1 90 29 119 370 d7diEE 3 10 22 2.20
4 (FEHEEEER 3 1 268 39.9 102 5 107 4 [FORVAL BONDS 2 8 14 1.75
5 |FORVAL BONDS 2 8 261 39.1 90 12 102 5 [ZEERRUF JRIT 3 1 16 1.45
(A% 1] 2 6 161 52.2 75 9 84 6 [FFREEEEE 3 1 13 1.18
12y bHEYDTAYIRERHK (K) =BA-HEEY M
H_JmExz Y-JL>—TmInE
< + < + 2 24
B = = % 3t |2
[} _ v T 7 il ES JIE _ Y =2 I Ih
o FoL& g |t = | 2| A | 2 fi FoL& A S I O I 2
# =4 & B
1|74 o rH 2 6 150 7 35 18 7.5 1 |EREL 3 12 206 | 125 45 36 71.6
2 [EmiEL 3 12 283 1 64 29 7.0 2 [ZEERUF JERIT 3 " 209 | 118 44 47 67.0
3|4 riiEE 3 10 242 12 49 30 6.9 3 |FEEEEEE 3 1 212 | 122 37 53 66. 3
4 [ZZBHRRUF JiRTT 3 1 216 8 31 34 3.4 4| 7A4 DK 2 6 100 54 22 24 65.0
4 (FFEHEEEEE 3 1 200 5 29 22 3.4 5974 7itiEE 3 10 183 93 50 40 64.5
6 |FORVAL BONDS 2 8 165 4 29 27 2.7 6 |FORVAL BONDS 2 8 167 80 42 45 60.5
H—IPER (%) =(H—EXI—ZAX100+3E x 25—k 8 x25) +3iTH Y—TLI—TRUE (%) = (B [E] x 100+ Ih [R] x 50) +$T#

RAEZEDEFIER. ARPHENBRANL—R—ILBECRBELET .



KE) & A 5215 > > (Best15)

FIRIEECAF/NL—R—ILREBREBBREBFAE

2018/02/04 5

TEYIRER (N\wOT7FvIED) B (BEs)

# |t - i @ |t 4 EA o
= K4 7ot | B §§z g 181 % = . K4 Fos% | B g{ ; 2 IR
1[mR B AISIN | 2 | 6 28 20 | 1] 114 1[#s g HaELE 3 | 12 53 7 | 2 62
2 |iE% Ki BONDS 2 | 8 24 17| o | 708 2 | KB B HRAL 3 | 12 40 4 | 2 46
3 |mE Ex BTMU 3 | 8 74 2 | 2 | s6.8 3 |mE Bx BTMU 3 | 8 42 2 | o 44
4|RE BE AISIN | 2 | 6 27 15 | 2 | 556 4 |TE m 42097 3 | 10 35 3 | 2 40
5T ArsiN | 2 | 6 39 20 | 4 | 513 5 |4Er A H74097| 3 | 8 38 1] o 39
6 AT EA 474097 3 | 8 76 38 | 3 | 500 5|k B RRAL 3 | 12 37 2 | o 39
6 |¥2E =3k BONDS 2 | 8 48 24 | 6 | 500 7|HE+E xmE HEMELE 3 | 11 21 6 | 0 27
6 |T% mE ArsiN | 2 | 6 20 10| 2 | 500 7 |mm w BTMU 3 | 1 24 1] 2 27
9 |Kip B ERELE 3 | 12 80 37| 2 | 463 9 @ =ik BONDS 2 | 8 24 o | 2 26
10| =% 474057 3 | 10 80 35 | 8 | 43.8 9 |fE fALR wEMELE 3 | 1 23 o | 3 26
10|58 B3 47097 3 | 9 48 21| 3 | 438 1| wF Eas AISIN | 2 | 6 20 3 | 2 25
12| K@ H# BB 3 | 12 92 0 | 6 | 435 1t Ess ArsiN | 2 | 6 19 5 | 1 25
13|E+iE 2= FERMmESE 3 | 1 49 2 | 2 | 429 11|30l AKER BONDS 2 | 8 23 2 | o 25
14|k 24 HEEL 3 | 12| 126 | 53 | 12 | 421 1|E Bt wEmESE] 3 | 10 22 3 | o 25
15|t Ei ArsiN | 2 | 6 46 19 | 4 | 413 1|em &8 HEEL 3 | 12 16 g8 | 1 25

TEUORER (%) @R ITEX100 BRAT 5y BAT IO BRI —JBR
= | z S t
B ke rus | 8| 1 # S B ke rus | 5|7 # S
# g ey 5
1[meE @k BTMU 3 | s 42 5. 25 1|=R 74097 3 | 10 10 1.00
2 |HNET EA $I40T7| 3 8 38 4.75 2 |5 EE AISIN 2 6 5 0.83
3 |#h B HsEL 3 | 12 53 4.42 3 |iEx xim BONDS 2 | 8 6 0.75
4 |mmE m 74057 3 | 10 35 3.50 4|rm g8 HaEL 3 | 12 8 0.67
5 |km gt ERELE 3 | 12 40 3.33 4|nmE pw AISIN | 2 | 6 4 0.67
5 iR AISIN | 2 | 6 20 3.33 4|e% ng ArsIN | 2 | 6 4 0.67
5 |WWTF m ArsiN | 2 | 6 20 3.33 7|EE = G 3 | 12 7 0.58
8 st Ex ArsiN | 2 | 6 19 3.17 7 |E EREL 3 | 12 7 0.58
9 | KR B ERELE 3 | 12 37 3.08 9 |=E mH 74097 3 | 9 5 0.56
10|28 Hih BONDS 2 | 8 24 3.00 10|5+5 = HEMELE 3 | 1 6 0.55
RIERAYS: BONDS 2 | 8 23 2.88 10|Fm — BTMU 3 | 1 6 0.55
12|RMR BiF AISIN 2 6 15 2.50 12|IIT E AISIN 2 6 3 0. 50
13|EA fEAES BONDS 2 | 7 17 2.43 13|12 gz BTMU 3 | 10 4 0.40
14|58 B 47097 3 | 9 21 2.33 14| 5 BONDS 2 | 8 3 0.38
15|/VE B+ FEEELE 3 | 10 22 2.20 15|Am H4 EaEL 3 | 12 4 0.33
Tty N BT R v I REAR (F) BA-EEBEY R Ty FBEUBTI0y S RERE (F) “BA: BBty P&
H—JMRE
I Bl agle|n|x|2]|e 2052|5548
i KA FhE S F | R | R|R|Z I B4 TR LB R & | & | 2
% % E | &
HEZEES HEEL 3 [ 1286 [ 5 |17 ] 9 [125] [1]mzm =2 REL 3 [ 12|85 [aa [ 17 ] 4 [773
2 |FE fEAER gamEes| 3 | 11| 28| 3 | 2| 3 |120| [2|mE@X BTMU 3 | 8 | 77|50 | 16| 11 |753
3|tn g BTMU 3 102 | 2| 3| o [106| |3k == HEGLE 3 | 12|54 |36 | 9| 9 |70
4 |+pE A— 424057 3 | o |3 | 2 | 13| 6 [10.4] |4|mEx BTMU 3 | 11|58 |3 | 13] 9 [733
5 |4 ArsIN | 2 | 6 |21 | 1| 8| 1 [102]| |5|mm @A wamEea| 3 | 11 | s2 |56 | 8 | 18 732
6 |5E B 44097 3 | 9 |35 | 2 | 7| 1 |100]| [6|ER @ AtsIN | 2 | 6 | 41| 27| 14| 6 |723
7T ArsiN | 2 | 6 | 3| 2] 9| 4 |os 1|58 B3 w2097 3 | o | 57 | 34 | 13| 10 | 711
8 |t E ArsiN | 2 | 6 [ 14| 1] 2| 1 |89 8 |#71E % BONDS 2 | 8 |4 | 28] 6 | 10705
9 |TH nE ArsiNn | 2 | 6 | 26| 2] 5 | a4 |87 9 |#&eh BB L 3 | 12 | o | 51| 18] 21 [667
NI BONDS 2 | 8 |36 | 2 | 12| 8 |83 [to]asg= gamEea| 3 | 11 |63 | 32 | 17| 14 |63
1|EE = BREL s 2| 1| | 3 [10]| |1|Am e 44057 3 | 10 | 78 | 38 | 24 | 16 | 641
12|%R @i ArsIN | 2 | 6 |19 ] 1| 4| 3 |es| |12/iem = BONDS 2 | 8 | 77|37 | 23] 17 |60
13| KB Bt HEEL 3 |12 |50 | 2 | 12| 8 |60 |13k mE AIsIN | 2 | 6 | 44| 24| 6 | 14 |61.4
13|£m HEELE 3 122 | 1| 3| o |eo]| [14]weiz wEmEea| 3 | 11 | 50 | 28 | 12 | 19 |57.6
13|55 S4 gamEea| 3 | 11| 20| 1| 8| 5 |60]| [150m= BONDS 2 | 8 | 16| 6 | 6 | 4 [563
F_IBRE (%) “(F_ERI_R X 0T BE<B- A<D “HH FoTLT—TRIE (%) = (Y] x 100+ Ro & x50) < 7T

KEAZDEFER., ABRHEFEEABERANL—R—ILBEICRELET .




SINSY e SEE

#EES 101

FER 2018/02/03

e LA

FEELEOAFNL—HR—ILREBREBBERREFRXE K5 REXKFLRXv /X
: JURY :  KiI #E— F—LI b | B= | 1 2 3 4 5 | A&t
BASRBERS :  13:00 £ & : A% EEBE HmEL 3 2 23 25 26 25 99
BT 1437 B FB: XE #2 o4 L I7diEE 1 1 25 22 24 22 93
HErmR 01:37 HIEE: BEFE #— S &HFRE[ 00:20 | 00:22 1 00:24 | 00:22 01:28
W _ Safilza
TOKIO MARINE iﬁl\iﬁi VS Y24 IT7diEE
GROUP
1set 2set 3set 4set bset 1set 2set 3set 4set bset
9 6 1.9 1 6,9 1 6 9 1 6 Bl & B X EE —1T 16 13 113 15 7 /16 13 1 /12 1 5
INER 8B J—F tH E— (4) a1
16 21 5|21 16 5 21 16 5|21 16 5 17508 & & O 18K 14 12 716 14 1214 12 7 4 14 N
(15) (15) (15) 2 B = 1 (5) (5) (8)
21:23 - = ;i:;g - PR 12:13 16:18 ]99—_1220 - -
i HE B EY: iR E & B £ SFf
RIEE (%) 47.4 133 63 " Rk 143 57 1 39.9 RIEE (%)
REE (%) 33.3 15 5 2 (RN T7HRYY) 22 8 1 36.4 REE (%)
v FEH(R) 2.00 — 8 — Jowvy — 8 — 2.00 vy FEH(R)
SR (%) 4.3 98 2 13 H—7 94 3 1 4.8 SR (%)
ARIIEE (%) 70.4 — — — H—JLi—J — — — 61.2 AR IIEE (%)
F—LTHI b+ 1 — 26 — HFOIR — 25 — 4 F—LTHIE
231 99 24 &5t 237 93 22
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
RRiEL H RIS S E' B & R . ‘E’ T8 & 0 = % % B
™ B2 e slp R R i%‘iiﬁaigmg
1 | ¢ KB 4 m m mm 3319/ 3 57.6 475 |11, 5|1 455 [2 05 |14 0 3 3 00 [0/0 0 -
2 | L Xig St 0
3 (L mmoRE 4 L L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 15,10 4 80.0
5 A B 4 " MmN 47 17 6 | 36.2 425 |4 0 1 00 |2/| 05 |13 0|4 3| -1.9 |42 256 66.7
6 MR BK 4 MmN 189 0 500 225 |0 00 - 1002 (1815 5 5.6 302 1| 833
9 Kig & 4 ' MmN 2614 1 538 350 |0 00 - 0 - 2.0 0 3 3.4 20013 3| 72.5
10 EI/NE-IN 0
1 Rt —18 0
12 B REE 0
15 Wi R 3 0o 0 00 0 - - 00 0 - 0 - 3.0/0 0/ 00 Jo 0 0 -
16 BiE = 4 m m mm 00 0 - - 00 0 - 2 05 |17, 0 1 6 7.4 1.0 0 0.0
21 L@ &E 4 m mE N 9 4|1 444 100 |00 0 - 1002 (11 1/0 2| 136 |0 0 0 -
22 mA &% 0
F—L&F 4 13363 11 47.4 15.75 (155 2| 333 |8 200 |98 2 1322/ 43 |81 50 14 70.4
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
. L . £ N B
BT 4 L7 B, 54 5lursx B P lnex 2 |8 Y |luexn 2 |zmm F
7 gRR oz T |BRAR g |R 3 (BRRE Z |® . - =
] 1 7 R
1 |c &8 B8 3 m | 12,50 41.7 1.67 [0 0 0 - 103 |11 03 1| -45 |22 12 5 659
2 wE B 0
3 | L &k s 4 L L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 21007 6 471.6
4 i KE 2 O n 123 2 250 .50 [4/20| 5.0 |1 05 |[5/1|/1/1] 20 |0 0 o0 -
5 WE 3 OO0 m 1.0 1 0.0 000 |0 00 - 0 - 100 0 1 2.5 00 0 -
6 | L A#E #E— 0
7 +BE A— 3/m mm 1.0/ 0 00 000 [0 00 - 0 - 100 23 2.5 00 0 -
8 =& Bih 1 O 2020 1000 200 |0 00 - 0 - 1t/o/ 00 00 1.0 0 0.0
1 RE % 2 O m 100 00 000 [0 00 - 0 - 4.0/0 0/ 00 Jo 0 0 -
12 TE H} 4 m m mm 16 7|2 438 1.75 [0 00 - 3 075 |13, 0 0 1 1.9 1.0 1 500
13 EE B 3 m mEm 640 667 1.33 [0 00 - 1038 |11 10 2| 136 |2 1 1 750
14 AIF 4 m mE N 44019 4 43.2 475 |3 20 667 [1 025 |14 1 3 2 54 |[34/19 8| 67.6
15 B W 1 n 1M 5 0 455 500 |0 00 - 0 - 401 2 6.3 412 1] 625
16 HIRT & 3m mm 3712 2 32.4 400 |15 41 267 [1 033 |11 0 1 4 6.8 00 0 -
F—LEE 4 14357 11 39.9 14.25 22/ 8|1 | 364 |8 200 [94|3 |11/17| 48 |85 41 22 61.2

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




SINSY e SEE

AEES 102

FER 2018/02/03

e LA

FEELEOAFNL—HR—ILREBREBBERREFRXE K5 REXKFLRXv /X
HEY JURY :  KiI #E— F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS : 1517 £ &B: X 2 TA DR 3 2 27 25 25 71
WTERD:  16:30 Bl T/ £ x£B FORVAL BONDS 0 1 25 19 22 66
HEEM . 01113 #IEE: KK A# HBFH| 00:25 0020 | 00:22 01:07
/AAISIN;RDUP
7/{ *}‘/*ﬁ% ' FORVAL BONDS
1set 2set 3set 4set bset 1set 2set 3set 4set bset
2 12 5.2 12 5 2 12 5 Elg & B X HE BEA 3 8 15,3 8 15 3 8 15
(6) (6) BEIR Rl J—F (10)
4 3 1.4 3 1 4 3 1 1§08 & " 0% 18K 14 2 5 14 2 5 14 2 5
(8) (8) (8) (6) 2 B = 1 10) (12 (12) | (10) (12
2 I il I o I Il I
i HE B EY: iR E & B £ SFf
RIEE (%) 49.4 83 4 6 Rk 88 42 9 47.7 RIEE (%)
REE (%) 38.5 13 5 3 (RN T7HRYY) 7 4 3 57.1 REE (%)
v FEH(R) 3.67 — 1 — Jowvy — 6 — 2.00 vy FEH(R)
SR (%) 6.6 76 3 10 H—7 67 0 10 2.2 SR (%)
ARIIEE (%) 64.0 — — — H—JLi—J — — — 59.1 AR IIEE (%)
F—LTHI b+ 2 — 22 — HFOIR — 18 — 3 F—LTHIE
159 77 16 &5t 155 66 19
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
© oy s - * 5 - O D e alwm B e TR g
3] L)
1 | C iR @ 3 m Em 12,90 750 300 [0 0 0 - 0 - Mmoo 24 45 [21/13 5 738
2 it E 3m mm 26 8 3 308 267 |2 0 1 00 |4 133 |9 1 1 1 1.1 |41 0 2.0
3 o 3 m mEm 00 0 - - 00 0 - 0 - 121002 125 [0/0 0 -
4 AR B 3 m mEm 15 80 533 267 |0 00 - 4] 133 |5 0 2 2 00 [0]0 0 -
5 TH mE 3 mmEm 8 5 0 625 1.67 [0 00 - 2 067 |14 1 2 2 7.1 00 o0 -
6 ER BB 3o o o 0o o0 - - 0o o0 - 0 - 5 0/0 3| 150 |1 1 0 1000
7 i EE 0
8 Z@ @l 3 oo 0 00 0 - - 00 0 - 0 - 3.0/1 0/ -83 |o 0 0 -
9 tERK &K 0
10 | L 8K BF 3L L oL 00 0 - - 00 0 - 0 - 0 0/0 0 - 30 17 4 63.3
1 LA 15 0
12 T E 3 m Em 22113 500 3.67 |11 5 2 45 |1 03 |17, 0 2 4 29 1.0 0 0.0
13|L BE @95 0
F—L&F 3 83 41 6 | 49.4 13.67 (135 3| 385 |11 367 [76/3 |10/ 18| 6.6 |57 32 9 640
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
FORVAL BONDS i geox R s iqomle R |a 5 ae sy B latE o om
Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
2 TE Fi 3 m mEm 2020 1000 0.67 |0 0 0 - 0 - 9 110 28 [1/0 1] 500
3 il AKER 3m mm 2 9 6 346 3.00 |5 3 2 600 - 130 13 3.8 80 0 0.0
4 O Bz 0
5 EXR AL 3m mm 1041 400 1.3 (110 1000 |1 03 [8/0|2/1| =31 |o 0 0 -
6 | L #7E HR 3L L L 00 0 - - 00 o0 - 0 - 0 0/0 0 - 1812 3 750
8 [Nz T 3 m mEm 2010 2 | 50.0 333 |10 1 00 |0 - 1mio 26 9.1 |32 18 5 641
10 M 3 3/o o o 00 0 - - 00 0 - 0 - 4.0/0 0/ 00 JOo 0 0 -
1 B EE 0
12 (¢ wm & 3’00 0O 00 0 - - 00 0 - 0 - 2,01 0| 125 |5 2 3 700
13 52 RE 0
14 hE s 3m mm 21110 52.4 3.67 |0 0 0 - 103 [8 01 4 9.4 |2 1.0 500
15 BA KiE 3 m mEm 9 6 0 667 200 |0 0 0 - 4 133 |12, 0 2 2 00 [0]0 0 -
F—LEE 3 88 42 9 | 41.7 140 [7 /43 5721 |6 200 [67/0 10/16 22 |66 33 12 59.1

Xty b=y . B=RE4—T 15 0nN— O=%KEF L=YA0O

TEYYVREE (%) =FR--FTHx100 TRYIRERYE (F) =KRATHBEEY M
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



SINSY e SEE

AEES 103

FER 2018/02/03

e b

i3 =]

FEELEOAFNL—HR—ILREBREBBERREFRXE K5 REXKFLRXv /X
HEH - JURY :  ENfE #=H— F—L b | B 1 2 3 4 5 5%
BASRBERS :  13:00 E£ FE: /NE = =SEFERUF JRT 3 2 21 25 22 25 15 | 108
RTERRE . 14146 B B BHH OB FEEEEER 2 1 25 10 25 23 13 96
AR . 01:46 HFEE - EE BT & B5RE| 00:20 | 00:15 | 00:22 | 00:24 | 00:13 | 01:34
O =EHRRUF JIRIT Vs FEMESEE A
MUFG HOmiES
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1 6 12,1 6 12,1 6 12,1 6 12,1 6 12 B E— 2 B 4 9 1,4 9 1.4 9 1,4 9 1]/4 9 1
) (16) (13) (13) (10) =5 Ef aO—F 3) (20) 0)
5 17 245 17 245 17 245 17 24|5 17 24 17508 & & O 18K 8 5 11,8 5 11,8 5 11/8 5 11,8 5 1
(10) (18) (18) 2 B = 1 (20) an an
o - o 1514 B B4 LT b Z i Z o :
i HE B EY: iR E & B £ SFf
RIEE (%) 50.0 122 61 1 Rk 112 48 3 42.9 RIEE (%)
REE (%) 63.0 27 17 0 (RN T7HRYY) 10 5 0 50.0 REE (%)
v FEH(R) 1.80 — 9 — Jowvy — 1 — 1.40 vy FEH(R)
SR (%) 3.7 107 5 21 H—7 97 3 1 3.4 SR (%)
ARIIEE (%) 74.1 — — — H—JLi—J — — — 71.4 AR IIEE (%)
F—LTHI b+ 16 — 33 — HFOIR — 38 — 19 F—LTHIE
229 108 22 &8 209 96 14
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
R . H , ® 5 , O D , B R g
1 mE BA 5/m m m m W|47 30 0 638 6.00 |12 90 750 |2 o040 |[16/0 6 3 -47 |55/35 13 755
2 M BEEE 10O 00 0 - - 00 0 - 0 1o/ 10 250 [0 0 0 -
5 | C B — 5 m M m H M[10 4 0 400 080 |1 0/0 00 [3 o060 |10 0 4 0| -100 |10 0 0.0
6 B - 5 m m m m m|1 0 1 0.0 0,00 |0 00 - 0 - 25 1 5 6 50 0|0 0 -
10 EE EA 2 | O olo oo - - 00 0 - 0 - 2,.0/0 0/ 00 Jo 0 0 -
12 T8 8= 5/ m m m o m m|19/8 0 421 1.60 |00 0 - 3| 060 |12 2 0 1 188 [0/0 0 -
13 B R 2 oo 00 0 - - 00 0 - 0 - 300 0/ 00 Jo 0 0 -
16 B3 L 1 O 00 0 - - 00 0 - 0 - 2,.0/0 0/ 00 |o 0 0 -
17 %A B 5/m m m m m|24 8 0 333 1.60 [5 10| 200 |1 | 02 |13 1|4 3 5.8 7.5 1 786
18 [:3:: 000 2 O O 00 0 - - 00 0 - 0 - 5/0 0 1 50 [0/0 0 -
20 Hit 18— 0
21 | L & B— 0
2 | L ®% @K 5/L L L L L|]O|O O - - 00 0 - 0 - 0/o0 00 - 19 133 76.3
24 HE BR 5 m W m W W|20 11 0 524 220 |9 7 0 7.8 |0 - 1801 13 8.3 3.2 0| 667
F—L&F 5 12261 1 50.0 12220 |27 17 0| 630 |9 1.8 (107 5 21|17 37 |8 55 17 747
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
: Hy - #* 5 - O PR o alw B e TR g
TRIEEER 202005 B8 E P BEE B oL BERE 2 2VY 2
] 1 7 R
1 A+ BE 5/ m m m m m|[17 7 0 4.2 1.0 [0 0 0 - 4 080 130 0 1 1.9 0/0 0 -
3 Bl A 1 O 00 0 - - 00 0 - 0 10/ 1,0 250 [0 0 0 -
4 NE BE 5/m m m m W30 11 1 367 2220 |4 20 5.0 [0 - 1700 12 1.5 0 0 0.0
5 | C fnm AR 5/m m m m W25 12 1| 480 240 |4 3|0 750 |0 - 163 12 2.3 [2017 0 8.0
8 FH 4 5 m W ®m W Mm[13 8 0 6.5 1.60 |00 0 - 10 020 [12/0 0|4 83 202 0/ 1000
9 [N 5 m W ®m W Mm|[2 10 1 385 200 |2 0/ 0 00 |2 o040 [17 0 1 1 0.0 |[26/15 5| 67.3
10 X% Bt 0
11 it 8 5/m m m m m|[1 0 0| 00 000 |0 00 - 0 - 17,0 4,1 44 |0/ 0 0 -
15 | L ¥t {5 5/L L L L L|]O|O O - - 00 0 - 0 - 0/0 00 - 3% 19 9 67.1
17 SRIN faH 2 o o 00 0 - - 00 0 - 0 - 0/0 00 - 00 0 -
20 WA %7 3. 0O oo 00 0 - - 00 0 - 0 - 4. 0/3 1| 125 Jo 0 0 -
F—LEE 5 112,48 3 42.9 9.60 |10 5|0 500 |7 140 |97 3 11 12| 3.4 |84 53|14 71.4

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

TRYIRERYE (F) =KRATHBEEY M

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




SINSY e SEE

#aES 104

FER 2018/02/03

e LA

FEELEOAFNL—HR—ILREBREBBERREFRXE K5 REXKFLRXv /X
HEH - JURY :  ENfE #=H— F—L b | B 1 2 3 4 5 &5t
BASRBERS :  15:30 £ FE: /NE = =SEFERUF JRT 0 1 19 18 18 55
SRTHER . 16:34 Bl E: B F o4 L I7diEE 3 2 25 25 25 75
HErmR 01:04 HIEE: & i S &HFR[ 00:18 1 00:19 | 00:21 00:58
Safilva
@ =ZHRHFEUF JRTT VS Y74 7dtiEE
MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1 6 12/1 6 12,1 16 12 AT #— OB FE —17 16 13 1 .13 1 7 16 13 1
(13) (13) (10) =5 Ef a—F tH E— 9 @ ® an
5 17 24 5 17 24|5 17 24 181 BX & " 15180 14 12 7 16 14 12 14 12 7
(10) (18) (18) 3 B = 3 (5) (8)
ity o b - - SALTI b - - - - -
i HE B EY: iR E & B £ SFf
RIEE (%) 36.5 85 31 " Rk 82 42 6 51.2 RIEE (%)
REE (%) 41.7 12 5 3 (RN THRYY) 6 2 1 33.3 REE (%)
v FEH(R) 0.33 — 1 — Jowvy — 6 — 2.00 vy FEH(R)
SR (%) 2.2 56 1 1 H—7 74 3 1 5.7 SR (%)
ARIIEE (%) 63. 1 — — — H—JLi—J — — — 69.4 AR IIEE (%)
F—LTHI b+ 6 — 22 — HFOIR — 24 — 5 F—LTHIE
141 55 18 &8 156 75 17
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
R . H , ® 5 , O D , B R g
1 mE BA 3 mEm 27 12 2 | 44.4 400 |3 0 1 0.0 |0 - 9 01 2 2.8 |22/15 3| 75.0
2 A REE 0
5 | C B — 3 m mEm 51,0 200 033 |0 0 0 - 0 - 5 00 0/ 00 |o 0 0 -
6 B —H 2 M m 3.2, 0 667 100 |21 0 5.0 |0 - 6 0 1 1 00 [0]0 0 -
10 EE A 2 0O O 00 o0 - - 00 o0 - 0 - 2.0/1 0| -125 Jo 0 0 -
12 T4 = 3 m Em 1242 333 1.33 [0 /00 - 0 - 1mio o2 4.5 00 0 -
13 B R 2 00O 0o o0 - - 0o o0 - 0 - 2.0 11 00 [0]0 0 -
16 B3 L 1 [ 00 0 - - 00 0 - 10100 [3 0/0 0/ 00 |0 0 0 -
17 A B 3 mEm 216 5 286 200 |2 1.1 5.0 |[o - 70131 7.1 |18 7 4 500
18 [:3:: 000 2 oo 00 0 - - 00 0 - 0 - 2,.0/0 0/ 00 JOo 0 0 -
20 Hit 18— 0
21 | L & B— 0
2 | L ®% @K 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 2110 6 | 61.9
24 wE ER 3 m mEm 17/ 6|2 353 200 |5 3 1 600 [0 - 9.0 0 1 2.8 00 0 -
F—L&F 3 85 31 11 36.5 10.33 (1253 41.7 |1 033 |56/1 7|8 2.2 |61/32/13] 63.1
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
NE— H:'. - # s - 2 e e sy B e TR
TooMAEE - maoses\GRE EOF \REE 2R oL |BEEEZ 2RV 2
] 1 7 R
1 |c &8 B8 3 m mEm 188 3 44.4 267 |0 0 0 - 0 - 9.1 2 1 8.3 |[15/10 3| 76.7
3 | L &k wm 3L L oL 00 0 - - 00 0 - 0 - 0 0/0 0 - 105 3 650
4 g A= 1 O 2.1 .1 500 .00 |0 0 0 - 0 - 1t/0/0/0 00 1.0 1 500
5 wE 1 O 00 0 - - 00 o0 - 0 - t/o/0/ 0 00 [0 0 0 -
6 | L A#E sE— 1 L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 00 0 -
7 +RE K— 3 m mEm 1.0/ 0 00 000 |0 0 0 - 0 - 13/0 3|5 3.8 00 0 -
8 =& Bh 2 o o 413 0| 750 150 [1]o/0| 00 |o - 2. 1/0 1| 625 |o 0 0 -
9 B RA 1 O 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 00 0 -
1 RE % 1 O 00 0 - - 00 0 - 0 - 2,.0/0 0/ 00 Jo 0 0 -
12 TE H} 3 m Em 7.4 0 5.1 .33 |0 0 0 - 4 133 ]9 0o 1 0 -28 |[0]|0 0 -
13 EE B 3 m mEm 7,30 4.9 .00 |0 0 0 - 2| 067 |17 0 0 4 509 00 0 -
14 AT EE 3 m mEm 167 1 43.8 233 |0 0 0 - 0 - 131 23 9.6 |21 10 7 64.3
15 R REE 0
16 HIRT A 3m mm 27 16 1 | 59.3 533 |5 2 1 400 |o - 7.0 3 2 36 |2 20 1000
F—LEE 3 82 42 6 51.2 140 [6 21| 3.3 |6 200 |74/ 3 11/16| 57 |49 27 14 69.4

Xty b=y . B=RE4—T 15 0nN— O=%KEF L=YA0O

TEYYVREE (%) =FR--FTHx100 TRYIRERYE (F) =KRATHBEEY M
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



SINSY e SEE

FOEEECAHNL—R—ILBREBLXEBHRBBEFRE

#AEES 105

FtER 2018/02/04
215 FWEAPALRE v /(2

e LA

: JURY :  KiI #E— F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS :  10:00 E£ & /NE = HmEL 3 2 25 25 22 25 15 | 112
WTERD:  11:50 Bl ;| £ £B FORVAL BONDS 2 1 217 19 25 15 12 98
AARE: 01550 HES: REAETF BAFR] 00:23 | 00:18 | 00:21 | 00:19 | 00:17 | 01:38

W
\M RpEL 'S FORVAL BONDS
GROUP
1set 2set 3set 4set bset 1set 2set 3set 4set bset
9 1 6.9 1 6 9 1 6, 9 1 6 9 1 6 Bl & B X HE BEA 3 8 15 3 8 15 3 8 15 3 8 15 3 8 15
INER 8B J—F an a3 (10) (12) 10 an (12 (13)
21 16 5 21 16 5 21 16 5 21 16 5 21 16 5 28508% B " OB 28K 4 2 5|14 2 514 2 5[14 2 514 2 N
(15) (15) 4 B = 2 (12) ) (12
24:23 16:15 3:7 14_—8 - PR - - - 3:9 10:13
i HE B EY: iR E & B £ SFf
RIEE (%) 36.5 148 54 " Rk 173 60 18 34.7 RIEE (%)
REE (%) 28.0 25 7 2 (RN T7HRYY) 25 8 7 32.0 REE (%)
v FEH(R) 2.80 — 14 — Jowvy — 8 — 1.60 vy FEH(R)
SR (%) 10.0 112 7 1 H—7 98 4 17 3.1 SR (%)
ARIIEE (%) 72.8 — — — H—JLi—J — — — 61.4 AR IIEE (%)
F—LTHI b+ 8 — 37 — HFOIR — 26 — 2 F—LTHIE
260 112 18 &5t 271 98 35
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
= Hy - * 5 - O D e alwm B e TR g
TRRE grocoesBEE 5 L (REE R L ORERR 3 RN 2
3] L)
1 | ¢ KB 5 M M W W W[40 15 2 375 300 (16 4 1 250 [1 02 |21 2 3/ 6 131 [0 00 -
2 | L Xig St 0
3 |L A RE 5 L L L L L|]O O O - - 00 0 - 0 - 0 0/0 0 - 29 18 9 | 71.6
5 A B4E 5 M WM W N W|48 23 4 479 460 |9 3 1 33 [3 060 [14 2 1 3 179 |25 13/ 5 620
6 v DN 5 m M m W m|[15 3 4 20 060 |0 0 0 - 0 - 24,2 1.8 156 [2 1|0 500
9 Kig & 5 m M W H M|[32 8 0 250 1.60 [0 00 - 1002 (2100 5 6.0 |22 16 3 | 79.5
10 EI/NE-IN 0
1 K —18 0
12 B REE 0
14 B R"E 0
15 WiE 2. 0 O 00 0 - - 00 0 - 0 - 3.0/1 0/ -83 |o 0 0 -
16 HiE & 5 m W ®m ® ®m|1 1 0 1000 0.20 |0 0 0 - 4] 080 |16 1 1 2 7.8 00 0 -
21 @ &E 5 m M m m Wm|[12 4 1 333 0.80 |0 0 0 - 5/ 1.00 |13 0 0 0 0.0 11,0 100.0
22 A & 0
F—L&F 5 14854 | 11 36.5 10.80 |25 7 2| 280 |14 280 |12/ 7|7 24| 100 |79 49 17 72.8
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
FORVAL BONDS i geox R s iqomle R |a 5 ae sy B latE o om
Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
2 TE Fi 5 m W ®m ® m|[4 2 0 500 0.40 |0 0 0 - 1002 (1311 0 538 1.0 1 500
3 il AKER 5 M WM W N N[5 14 7 280 280 |8 1.3 125 |2 040 |16 0 2 2 0.0 |[14]5 4| 500
4 mo Bz 0
5 EXR AL 4m mm 413 3 31.7 325 |5 4 0 8.0 |1 02 [100 0 0 00 [0 00 -
6 | L #7E HR 5/L L L L L|]O|O O - - 00 o0 - 0 - 0 0/0 0 - 2 16 3 | 67.3
8 [Nz T 5 m M W W W|[2 14 4 500 2.80 |11/ 3 4 213 |o - 2% 2 6 6 8.0 |[45/19 18| 62.2
10 M 3 2 oo 00 0 - - 00 0 - 0 - 2.0/1 0| -125 Jo 0 o0 -
1 B EE 3.0 O m|8 3|1 315 100 [1]olo] 00 |o - 1t/o/ 00 00 11,0 1000
12 (¢ wm & 5 Ooooo|lo 0 0 - - 00 0 - 0 - 5 02 1| -50 |11 4 3 500
13 52 RE 2. 0 ofofo o - - 00 0 - 0 - 5 1,0 1| 20 |0 0 0 -
14 hE s 5 M m m m m|27 3 3 111 0.60 |0 0 0 - 2] 040 |12 0 1 2 2.1 201 1] 7150
15 BA KiE 5 m W m W m[15 11 0 733 220 |0 0 0 - 20 040 |9 0 4 1 83 [1/1 0 1000
F—LEE 5 173/ 60 | 18 34.7 1200 (258 |7 | 320 |8 160 |98 4 1713 3.1 |101 47 30 61.4

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TRYIREE (%) ="K+

FTH % 100

TRYIRERYE (F) =KRATHBEEY M

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b

Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



E8EEE6ANFI/ N L—HR—)L]

SINSY e SEE

4

HAEES 106

FER 2018/02/04

e LA

BLEBRMBEFRE 5 HBREAEF v /R

[Tk = |
: JURY :  KiI #E— F—LI b | B= | 1 2 3 4 5 | &%
BASRBERS :  12:40 F£ &E: £ EEBE HmEL 3 2 25 25 25 75
BTHER . 13:44 B OB NE = SERRUF JEIT 0 1 22 13 16 51
HMERM:  01:04 HES: BEAEF S ABFRA| 00:19 | 00:19 | 00:20 00:58
N\

TOI(}MARINE iﬁiﬁi VS EZ%:‘:—E U F ‘J gE{fi- @
GROUP MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set bset

9 1 6.9 1 6 9 1 6 Bl & B X F 24 6 5 24 6 5 24 6 5
INER 8B a—F =8 IEH# (18) (18) (18) 10)
21 16 5 21 16 5|21 16 5 308K & " 10528 12 .20 17 12 20 17 2 20 17
10) (15) 6 B = 4 10) (%))
: : : : : SALTI b for 156 18 : :
i HE B LY BT R & B £ SFf
RIEE (%) 46.9 96 45 5 Rk 97 27 8 27.8 RIEE (%)
REE (%) 37.5 8 3 1 (RN T7HRYY) 13 7 2 53.8 REE (%)
v FEH(R) 3.00 — 9 — Jowvy — 6 — 2.00 vy FEH(R)
SR (%) 5.8 73 2 9 H—7 53 2 6 3.8 SR (%)
ARIIEE (%) n.1 — — — H—JLi—J — — — 60.3 AR IIEE (%)
F—LTHI b+ 2 — 19 — HFOIR — 16 — 5 F—LTHIE
169 75 14 &5t 150 51 14
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
= s - * 5 - 2 | 5 e alwm B e TR g
TRRE 212005 BEE E P GEE E B oL REREE 2 2VY 2
1 | ¢ KB 3 m mm 196 1 31.6 200 |3 0 1 0.0 1 03 [15 02 3 1.7 ]Jo 0o 0 -
2 | L Xig St 0
3| L A RE 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - M6 4 727
5 A B4E 3 m mEm 311302 4.9 43 |5 3 0 600 [2 o067 |11 0 2 2 00 |23 137 717
6 v DN 3 mmEm 1031 300 100 [0 o0]o0 - 2| 067 |14 2 3 4 161 [0]/0 0 -
9 Kig & 3 m Em 22 15 1| 68.2 500 |0 0 0 - 103 [16 01 5 6.3 |12 7 3 708
10 KL BA 1 O 0o o0 - - 0o o0 - 0 - t/o/0/0o 00 [0 0 0 -
1 K —18 0
12 B REE 0
14 B R"E 0
15 WiE 1 O 00 0 - - 00 0 - 0 - t/o/0/0 00 [0 0 0 -
16 HiE & 3 m Em 2. 0/0 00 0.00 |0 0 0 - 103 [1000/1 3| 50 |o 0 0 -
21 @ &E 3 m mm 1280 667 267 |0 0 0 - 2 067 |5 0 0 1 50 [0/0 0 -
22 A & 0
F—L&F 3 96 45 5  46.9 15.00 8 3|1 375 |9 300 |73/ 2 9|18 58 |46 26 14 71.7
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
SERRUF J BT H iom xR s som s R |a 5 e xw 2 |=2Z% m
TEREERORT e s e s BN R E L BRR E|R L larcE 2 |wTT 2
] 1 7 R
1 mE BX 0
2 A BEEE 2 O m 401 0] 2.0 050 |0 0 0 - 1005 [3 0/0 2| 167 |0 0 0 -
5 | C 2 — 3 m mm 6 0/0 00 0.00 |O 0 0 - 3/ 100 |8 0 1 0 31 |00 0 -
6 B — 3 m Em 00 0 - - 00 o0 - 0 - 8.0 1 2 31 00 0 -
10 1= 9N 2 O O 00 o0 - - 00 o0 - 0 - 2.0/0 0/ 00 Jo 0 0 -
12 T8 &= 2 m m 9 2 1 2.2 100 [0/ 00 - 1005 [3 0/0 0/ 00 |0 0 o0 -
13 kiR B 0
16 B3 % 0
17 A B 3 m Em 2410 3 | 41.7 333 |22 0 1000 [0 - 100 20 50 [3415 6 529
18 F:3:: 00 3 00 0O 0 0 0 - - 00 0 - 0 - 6 1,0 1| 208 |5 1 2 40.0
20 HiT 1B— 3 mEn 309 2 300 3.00 |10 5 1 5.0 |0 - 7. 1.2 1 107 |1 01 500
21 | L & B— 0
2 | L #% @mXx 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 1813 4 83.3
24 HE ER 3 mmm 245 2 208 1.67 [ 101 0.0 103 [6 0/0 0/ 00 |5 2 1 500
F—LEE 3 97 27 8 271.8 9.00 |13 7 2 538 [6 200 |53 2 6 6 38 |63 31|14 603

Xty bv—

RB—=F A4 T AN—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




FIEEEOAF/NL—R—ILREBLXBEBRBEFRE K5 RERFHLRF v /R

@ Eﬁé%%iﬁ%ﬁ sa®s 107 B#B 2018/02/04 e 1LiEE
BEY

: JURY :  ENfE #=H— F—L b | B 1 2 3 4 5 &5t
BAtARERD : 10000 F F|: X 2 FREEEER 0 1 19 9 21 49
SRTER . 11:00 8l E: B B TA DK 3 2 25 25 25 75
HARRE:  01:00 ¥EE: BR BT AR 00:17 | 00:16 | 00:21 00:54
. /AAIS/NGRDUP
FEBEEER Vs A2
yOmiEe
1set 2set 3set 4set bset 1set 2set 3set 4set bset
4 9 1.3 9 1/4 9 1 B OB Eig & 2 12 5 2 12 5 2 12 5
an | (23) a—F BER R (6) (1) (6)
8 5 11, .8 5 11,8 5 11 Of% 28K & " 2f%08K 4 3 1[4 3 1 4 3 1
(20) (20) 2 B = 4 (8) (9) 9)
0 s Tt - - SALTI b - - - - -
i HE B EY: iR E & B £ SFf
RIEE (%) 35.9 78 28 8 Rk 78 43 7 55.1 RIEE (%)
REE (%) 0.0 4 0 2 (RN THRYY) 7 4 0 57.1 REE (%)
v FEH(R) 1.00 — 3 — Jowvy — 6 — 2.00 vy FEH(R)
SR (%) 2.5 50 1 1 H—7 74 4 8 8.4 SR (%)
ARIIEE (%) 59.4 — — — H—JLi—J — — — 66.3 AR IIEE (%)
F—LTHI b+ 7 — 17 — HFOIR — 22 — 2 F—LTHIE
128 49 15 &5t 152 75 15
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
S H SR % M oy lmr
MABLERR 5123 45| %%E % g REE O (B O IHEZ22 2 2PV oy
# = F z (= ¥ = B g %
3] L)
1 A+ =8 3 m Em 13,61 46.2 200 |0 0 0 - 103 |11 oo 0o 00 Jo 0o o0 -
3 Bl #A 1 n 5.2 1 400 200 |10 1 00 |0 110/ 1/0 -250 00 -
4 N 2 ' m n 1861 333 300 |10 1 0.0 1005 |[3 0 0 1 8.3 0 0 -
5 | ¢ fE AR 3 m mEm 17/3 3 176 100 [o oo - 0 - 3.0/ 2 0| -16.7 |30 19 6 73.3
8 FH SH# 3 mmEm 741 511 1.33 [0 00 - 0 - 5 02 0/ -100 |3 2 0 667
9 g B 3 m Em 16/ 6|1 375 200 |2 0 0 00 1003 (10002 2| 00 |17 4 5 382
10 A% Bt 0
1 B B 3 m mm 00 0 - - 00 0 - 0 - 12,0 03 6.3 |0 0 0 -
15 | L it (5= 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 14,5 5 536
17 SBII fhR 1 O 2 1.0 500 .00 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
20 WA 17 2 O O 00 0 - - 00 0 - 0 - 4 10 2| 3.5 |o 0 0 -
23 wh g 1 O 00 0 - - 00 o0 - 0 - t/o/0/0 00 [0 0 0 -
F—L&F 3 78 28 8 359 933 |4 0 2 00 [3 100 |5 1 7 8 25 |64 30|16 59.4
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
. H % 5 * M B e TR g
TA R £ 123 4 582 FEEE o2 |B O HE22 2 £§27 5
ﬁ v mn $ EF an $ v :F v v @ E $
] 2]
1 | ¢ &R @ 3 m mm 16 11, 1 68.8 367 |10 0 00 |o - 8 1,1 0| 94 |26 14 9 7.2
2 it E 3 mEn 20 11 1| 55.0 367 |1 1,0 1000 |1 03 [5 0 0 1 50 [0/0 0 -
3 O 3 m mm 1.0/ 0 0.0 000 |1, 0 0 00 |o - 5,0 1,6 83 [0/0 0 -
4 RIE B 3 mmm 1272 583 233 |0 0 0 - 0 - 9.0 1 1 00 [0]0 0 -
5 TH HE 3 mmEm 12052 41.7 1.67 o 0o - 2 067 |12 1 2 3 104 [0]|0 0 -
6 ER BE 2. 0 O 0 0 0 - - 00 o0 - 0 - 3.0/1 0/ -83 |3 1 2 667
7 HH BE 1 O 00 0 - - 00 0 - 0 - 2,.0/0 1] 125 Jo 0 o0 -
8 =@ @l 1O 00 o0 - - 00 o0 - 0 - t/o/0o/o0o 00 [0 0 O -
9 ERA B 2 O o 00 0 - - 00 0 - 1005 [2 0/0 0/ 00 |0 0 0 -
10 | L 8K BF 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 14,7 2 511
1 WA 15 0
12 T Es 3 m mm 17,9 1 529 300 |4 3 0 750 |2 o067 [17 2 2 5 162 [0 00 -
13 |L B2 @E 0
F—LA&E 3 78 43 7 | 55.1 143 (7 4|0 571 |6 200 |74/ 4 8|17 8.4 |43 22 13 66.3
XtHHEtEy bv—0 0 B=RE—T 4 5A0nN— O=XAKEF L=UADO
TR U UREE (%) =BA-ITEx100 TR VORERE (K) —BA-HBEyY FH SOV REAM (F) —BATEHEY MK
H—THMBE (%) = (H—ERT—Z x100+HE x 25—k H x25) +HTH Y—TLU—THBE (%) = (HHE] x100+HEHN[ER] x50) +T%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



SINSY e SEE

FOEEECAHNL—R—ILBREBLXEBHRBBEFRE

#AEES 108

FER 2018/02/04

e LA

=15 . WBRFMRF v /X

: JURY :  ENfE #=H— F—L b | B 1 2 3 4 5 &5t
BAMARERD :  12:00 F F|: XIE 2 FREEEER 0 1 14 17 21 52
JTEM:  13:00 B T BHF BEF o4 L I7diEE 3 2 25 25 25 75
HErmR 01:01 ¥ES : JE i S &HFR| 00:15 | 00:18 | 00:22 00:55
. Safilva
FEBEEER Vs BT 4 LY 7 il
FOmiEe
1set 2set 3set 4set bset 1set 2set 3set 4set bset
4 9 1 4 9 1 4 9 1 OB FE —17 16 13 1 12 1 7 8 13 1
(3) (23) 23) a—F TH E— 8) (5)
8 5 11, .8 5 11,8 5 11 Of% 38X & " 285188 14 12 7 16 14 13 14 12 7
(20) (20) (20) 3 B = 5 (5) (9) | as) (4)
}gg @1 @4 - - B4 LTSk - 2%m 1tm - -
i HE B EY: iR E & B £ SFf
RIEE (%) 39.7 78 31 8 Rk 85 43 7 50.6 RIEE (%)
REE (%) 0.0 4 0 2 (RN T7HRYY) 13 6 2 46. 2 REE (%)
v FEH(R) 1.00 — 3 — Jowvy — 8 — 2.67 vy FEH(R)
SR (%) 4.2 53 1 4 H—7 74 6 8 10.8 SR (%)
ARIIEE (%) 66. 4 — — — H—JLi—J — — — 65.3 AR IIEE (%)
F—LTHI b+ 6 — 17 — HFOIR — 18 — 2 F—LTHIE
131 52 12 &5t 159 75 15
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
ko s - * 5 - 2 | 5 e alwm B e TR g
1 A+ =8 3 m Em 1981 421 267 |0 00 - 10 03 [8/ 0/ 00 0.0 0/0 0 -
3 Bl A 1 O 5011 200 100 |10 1 0.0 0 200 00 0.0 1 .1]/0 1000
4 N 3m mm 155 1 333 1.67 |2 0 1 0.0 2 067 |5 0 0 0 0.0 00 0 -
5 | ¢ fE AR 3/m m m 1782/ 411 267 |10 0 0.0 0 - 410 00 0.0 |32/20/ 2 656
8 FH SH# 3/m mm 10 4 2 400 .33 |00 0 - 0 - 121034 104 [1 10 1000
9 [N 3 /m mm 1M, 4 1 364 .33 |00 0 - 0 - 7.0 0 1 36 169 2 625
10 A% Rt 0
11 it B8 3 m mm 1T .1]/0 1000 033 |0 00 - 0 - 10, 0/0 4 100 [0/ 0 0 -
15 | L ¥ {52 3L L oL 00 0 - - 00 0 - 0 - 0/0 00 - 14, 8/3 679
17 SR R 0
20 WA 17 3 00O 0 00 0 - - 00 0 - 0 - 3o/ 1,0 -83 |0o|o0 o -
23 Bh 2 2 o o 00 0 - - 00 0 - 0 - 20000 0.0 00 0 -
F—L&F 3 78 31| 8 39.7 1033 [4 0 2 0.0 3 100 |5 1 4 9 4.2 |64(39| 7 664
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
i 4 t 8 x5 - O R . s | BB
B4 T 7AiEE g 1 2 3 4 5 g z_‘r 9£‘E % :E g ;_‘r = % :_ir :; g :_; § h % g’& Ij] Ij] %
] 1 7 R
1 |c &8 B8 3/m mm 1880 444 267 |0 00 - 0 - 1B 12 3 9.6 |20 12/ 5 72.5
3 | L &k wm 3L L oL 00 0 - - 00 0 - 0 - 0/0 00 - 6 4 0 667
4 Wi KE 1 O 4 2 0| 500 200 |1 0/0 0.0 0 - 3110/ 1] 4.7 |olo o -
5 wE 2 o o 00 0 - - 00 0 - 0 - 1. 0/00 0.0 00 0 -
6 | L A#E sE— 1 L 00 0 - - 00 0 - 0 - 0/o0 00 - 00 0 -
7 +RE K— 3/m mm 3.2 1 667 067 |0 0 0 - 0 - B2 15 221 [0/0 0 -
8 =& Bh 2 O m 12,4 2 333 200 |5 21 400 |o - 6 1 /1 1| 167 |o 0 o0 -
9 B RA 1 O 00 0 - - 00 0 - 0 - 2/0 00 0.0 00 0 -
11 RE % 1 O 311 333 .00 |00 0 - 1 .00 10/ 01 2560 [0 0 0 -
12 TE H} 3 m Em 620 333 067 |0 00 - 3 100 |9 0 1 1 0.0 00 0 -
13 EH B 3 m mEm 550 1000 1.67 [0 0 0 - 20 067 |7 1 1 1 143 |00 0 -
14 AIF 3m mm 20093 450 300 |2 1|1 5.0 [2 o067 [9/0 1 0 -28 |23/9 9 587
15 B W 1 O 2100 0.0 000 |2 00 0.0 0 - 3.0/0 2/ 167 |o 0 0 -
16 HIRT & 2 m m 1210 0 8.3 500 |3 3/0 1000 [0 - 7.0 11 0.0 00 0 -
F—LEE 3 8543 7 50.6 1433 |13 6 2| 462 |8 267 |74 6 8|16 10.8 |49 25 14 653
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Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#
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